sJEs

WO G- Com

LRPT107
DIFF GUARD

ITEM PART QTY
1 LRPT107_1 1
2 LRPT107_2 1
3 M10x30 ISO4017 2
4 M10 x 70 ISO4762 1
5 M10 NUT ISO7040 3
6 M10 WASHER ISO7089 4

MADE IN EUROPE



	Sheet1
	Drawing View1


